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B.A. Programme 2nd Semester Examination, 2019

DSC2-ECcONOMICS
MACROECONOMICS

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

GROUP-A
e

HHE-I
Answer ény four questions from the following

Q- Bl &t T wis

F IR TEEH! SR Y
Distinguish between GNI and NNI.
GNI '€ NNI &3 Tz #iefa 341
GNI &1f NNI A1sT ureia e |

What do you mean by velocity of circulation of money?
o 2veT @t (Velocity of Circulation) I61(® Far e
qaT! Teed O 9=l @ g ?

‘What is meant by marginal propensity to save?
eiifee 7ey eiFeie! JEce 6 (AR 9
WA §99 Sgha 5 @ gErs ?

Define the following terms :

(a) Open Economy and (b) Stagflation.
REE| wes

(¥) Ye=959 () Stagflation
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frfeie aRomss IR e ¢
(®) Taa siforawen AIfY (W) GRS Hel |

What is effective demand?
‘Effective Demand’ (S48 5IfEwl) F1F 761 ¢
AT AT 9T B B 7

What do you mean by full employment?
‘Full Employment’ (2 ety St et 9
gl SRR =1l & gfers 7

GROUP-B
fRept-4
g g
Answer any four questions from the following
- BIATe elve Ted nie
G FRAST URAEHH] S ARy

Explain the drawbacks of estimating national income in the developing countries.

G5 T (red SIS S ~AfICoR SpiRea e SiEmal 91
ferasiier <TESAl g9 NIfea oy R waeNies Jaredery |

“Supply creates its own demand”— Explain.
“caiaiw e BifRwia A F& ( Supply creates its own demand ) — AT FH
“gftfel ST ART M GorT T8~ THerd |

Distinguish between current account and capital account of balance of payments.
@I Tq0e (FGd ‘Current Account’ '8 “Capital Account’ =3 T 14 41

6x4 =24
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10.  What is multiplier? How is it related to marginal propensity to consume? 2+4=6
‘@R OO R (I 9 @ I e (o eReOI T H 2
T BT B B 7 TP WA STANT YRR B TR B 7

11.  Explain Keynes ‘Liquidity Preference theory of Interest’. 6
(P& @l “Liquidity Preference theory of Intetest” I ¥
12.  Distinguish between Demand pull and Cost-push inflation. 6

biftvE e SErES (Demand pull) € T Iw<e @RS (Cost-push

inflation) €% W4 ~1i<&T &34

GROUP-C
ettt
s
Answer any fwo questions from the following 12x2 =24

@-CIIA 7T 2o Tex wie

T gEICT TFEIHT IO} Rge
13.(a) Define Circular Flow of Income. 4+8=12
‘Circular Flow of Income’ €% IR&8l nS |
I URTT yars aRWIT TR |
(b) Explain Circular Flow of Income within a three sector model.
“Three sector’ ¥ IR 22 HG SNCAB F411
& ey AT ST ST URUF aTE W Iey |

14.(a) Define money. 2+6+4=12
R R WS |
HaT gRATE eI |
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(b) Discuss Cambridge version of the quantity theory of money.
ez 2 wren e Sl S 791

S BRE gare TRATE Rigr el THEN |
(¢) How do you distinguish it from the Fisher’s version?

«ft R Ol (A IR Siem] ©f (@ahs ¢

THATS THERD! GEHRUEE FER] URIE TIgo 7

15.(a) Explain the concept of Keynes’ Consumption function. 4+8=12
@ET @7 (Ol S’ (Consumption function)-3 GIReHD T 11
PHwID! AN B! TR JHISIE |

(b) With the help of a suitable diagram derive the saving function from consumption
function.

o To0aa ARICY (ois! ST (A0 e Seaio fofefey 311
UL YIRS TSI AT WelaIe g Ber W e |

16.(a) What do you mean by Inflationary gap? 24+6+4=12
“JErRIed T (Inflationary gap ) T 1 @RI 2
TERGIIR! STeRT F=Il B 3w 7

(b) Explain Inflationary gap with the help of a suitable diagram.
Ty e “urHifen T T 41

S qYh IIRE R ﬂﬂl'@fgl‘aaﬂ IR 'gaTaﬂ%W\l
(¢) Discuss various effects of inflation.

TwrFied Rion eeief SiEma $4
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